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HTET PGT (MATHEMATICS)

(3) A
YT — I/PART - 1

a7 e G eSS/ CHILD DEVELOPMENT AND PEDAGOGY

Fréor : Rt g9t % T 37 & fog g9 Directions : Answer the following questions

afaa faweq 37%(’ ; by selecting the most appropriate option :
1. 9oA fen =i @ siew 9 ST S 1. Present day edﬁcation cuts off the
g Hifh man from life because
(1) g8 Sfae % 99 A E 3 (1) it is not an integral part of life
(2) F€ AT F - X H o (2) it is unable to provide bread and
2 ‘ butter to man
(3) Ie A & AHd 39 H oremd ® (3) it is unable to provide job to man
(@) T o H EE AR @ (4) it is unable to fulfill the basic
‘iﬁ Tt F E needs of a man
2. T & oy Heheddl & TIEN, T 2. According to modern concept of
STTIH Bl q= ‘{I\&ﬁh‘! BEIGIREIEY teaching, teacher should play mainly
‘ the role of a
1) e B | (1) Philosopher
@2 FE#H (2) Friend
(3) FHRITEHEl &l » (3) Working partner
(4) RIS B _ (4) Instructor
3. 6 fow W wW@ive Wﬂﬁﬁ‘ﬁzﬁ 3. Which source will provide maximum
EeRmED] g F o 2§ 7 and up-to-date information about a
) subject ?
(1) TR (1) Encyclopaedias
(2) FEE (2) Internet
(3) e SThiGHE afpTd (8) Latest academic journals
(4) SRR THAA (4) International conferences
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4. SR FEI & FV OB B AN TG QY
BT TN R AN ITH AN G afEd
B F U B I B 7

(1) s ariftes Brar samr
(2) eﬁ@%{%ﬁmaﬁmaﬁﬁﬁmm

(3) F=Al F @F AN B T pE
(4) & B ©F F AT o

5. 9 SHNUS T g HU-HY F 109 B
Eﬁ U@T Gl qﬁ_’\_"ﬁ a]ic«‘q

(1) Faem w&= & ar |

(2) T & SgmEaE & ar
(3) UIgUYEE & AR A

(@) o9 o Bl B AR A

6. HEHT M & IS T ew & wonel
Sl i -

(1) gt frem someh
(2) s Qe gorel
(3) =1 Bi=a e goneh

(4) BRIFHET AW T
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4 Some students of your class have
become mattentwe which strateg
- wouldyou usé to regam their attention ?
".‘(.’lﬁ) A brmf physical activity
the

(2)Suspending class  for

sometime
(3).- Asking children to be attentive
(4'-}:;."Sendii1g the class out for games

5. When a teacher enters in the class
“room for the first time he should talk

“about -

(1) schol bilding

‘ (2)  scl;ool héadmaster
- (3) textbook .

‘(4) lmmselfﬁand students

6. fThe edu.catmn system developed by

| Mahatma Gandhl is known as

(1) Basxc educatmn system

) f:'(-?-) Vocatmnal educatwn system
(3)“ ‘Child eentred education system

(4) Handlcraft education system
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7. awwﬁﬂ-m%rﬁwgﬁ 1™
qEERYT §9 § Wee 7@ R !

(1) F=i H G B I

(2) F=AI P AT B AE A

(3) T H oY T A SN
GG | ’

(4) weat B el ST
8. F= d @ d9-A1 B F GAET H BRI
78t & ?
(1) IroRE faemad wEem
(2) HATH H AL FAER
(3) TET oI T8 F
(4) wgd o gt
9. S HNF Ub BEH B GHodl A

SR HUAl & df 98 SUAN &Y XEl
2T

(1) TRl & FE9 &
(2) 9 & IO W
(3) 99E & tad @
(4) TP TR ® Ed @l

10. vgfEE & ofgAR fEm & &= @
Bl |

(1) STeaT

(2) %

(3) TR

(&) T &
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10.

A

Which of the following acts of the
teacher does mnot help in creating
proper learning environmént ?

(1) Providing the children with

feeling of security
children sense of

(2) Giving the

freedom
Allowing children to
other children

Making children fearless

(3)

criticize

(4)
Which of the following is not the
cause of truancy of students ?

(1) Uninteresting school programme
(2) Teacher’s partial behaviour

(3) Too much home work

(4) Too many holidays

When a teacher gives the learner the
sense of success, he is using

(1) the law of readiness
(2) the law of practice
(3) the law of effect

(4) the law of mental set

According to Naturalism, the centre of
education should be

(1) Teacher:

(2) Child

(8) Curriculum

(4) None of the above
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A el b O el F g aew @
FET 2| T SED A@Y B @R
F 7

(1) 7T 7 a9 $ R w2

(2) I | I

(3) TWHI IU&T HIT

(4) 34 fqeard § & ug weh 3}

srf%rw qeEl & Ben B fiu gdds
BIERIE

(1) A & AR W FHE 6

(2) B FE=TT A

(3) HUHT F TS I

(4) Ffree feerl & sEes BT

TE e fifd, 1986 % SrgER fE
W FEY f9 IS IuRE @ ofed
T =Ry

(1) 6% (2) 10%

(3) 4% (4) 3%

W YA B g2 @ [ ST
AT peratl § 8 Fo MR emEiy
FAT | UF SAE B wG H I 9
ufeifeRa B ?

(1) uferars &6 ofT e =& A
(2) M & gakEm & emre w41

(3) el ¥ w27 5 3 @ Yard
(4) 38 9 ¥ & wy F e 9
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11.

12.

13.

14.

A student of your class is in the habit
of telling a lie. How would you deal
with him ?

(1) tell him not to tell a lie
(2) punish him
(3) just ignore him

(4) will take him into confidence and

counsel

The best provision for the education of
the talented children is

(1) Ability grouping

(2) Giving double promotion

(3) Enriching programme

(4) Providing special schools

As per National Policy on Education,
1986 percentage of national production
must be invested on education

(1) 6% (2) 10%

(3} 4% 4) 3%

School administration assigned you
some extra classes which are meant
for weak students. What will be your

reaction as a teacher ?

(1) Protest and not take classes
(2) Request reconsideration of
decision

(3)

Tell student to prepare on their
own

(4)

Accept it as your responsibility
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HAT & TR D W H ARAN TOA

3 ar ¥ FrafiRed FU & ST B

A I WEE B H TE TH G
forem ©1

B. Rl & omiEEee e §
den % fow O w6 3 W@ @
gEget SO 8 |

T @ B-a O gel ® 7

(1) %ad A (2) %99 B

(3) AGYIBIA (4) TATB

Reeror o o FRE | G e @

(1) ©E & GT BT =M

(2) BBl H AFGE W@ H X B
Sl

(3) M-I H WE B =Y

(4) SE B Y WA F [ F AqRY

R F @ e @ B S @B
A T B 92 WE 787 & ol A

(1) SERTST ST 8IS & qal g9 Hhel
& HT AT

2) B 4 w5 T g R S
3 FT AN

(3) BT & IAY AW & &

(4) BA F sie RerA
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15.

16.

17.

A

Study the following statements about
lecturing as a method of teaching :

A. Itis an efficient method of giving
information.
B. It is an efficient way of making

students think critically.

Which of these statements is/are
correct ?

(1) Aonly (2) B only

(3) Both A & B (4) Neither A nor B

Before starting to teach a teacher
must

(1) make the students stand

(2) make the
ready

students mentally

(8) clean the black board »
(4) ask the students to keep silence
While teaching if you realize that

what you have taught is nof correct,
you would

(1) leave the topic unfinished and
shift to another

(2) tell the students that it was a
mistake and correct it

(3) divert the attention of the
students

(4) Scold students

P.T.O.
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SRIEEECU CEE I SO A i
T B E U T B STEOE &
B A Y A P Faa ?

(1) 359
T B

(2) 3Hd WiE sewt ME @ yer
FCT B B

(3) Tab AR B GAHT A P

(4) I09 F & a9 Mo § of o
TelT T wHA B ook 3§ e
SO Ty

IR GG K G e o oo e

TE7 @ ST TRl i

(1) el TR deeis T8 &

R BB oAl #w w9

(2) STl At ofafy

(3) IclE o St & & fRar o

Tl &

(4) T § F gl

UH T4 A B AT U AT P
(1) 4" ¥ frm o e

(2) @AY TRIE gy

(8) dr¥ 7 yeT gy =R
(4) SO ME-HEwT SRl =R
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18.

19.

20.

Salim is very good in Musie but is not
able to do well in Mathematics. As a
teacher of Mathematics, how will you
handle Salim ?

(1) Tell him that Music does not have
a future

(2) Tell him to leave Music and study
Maths

(3) Call his parents and talk to them

{4) Tell him that he can do well in
Mathematics

Mathematical concepts to him

and explain the

A talented child can ro# be identified
through observation because

(1)

observation is not an objective

technique

observation  is a
technique

(2)

subjective

(3)

observation is used by those who

are expert

(4) All of the above

While delivering a long lecture what a
teacher should do ?

(1) Should break in between
(2) Should speak continuously
(3) Should ask questions in between

(4) Should change own posture
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23.
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T AT P T ASH B G Wed |
? IR ge Wi | o R W G
e ¥ oy I e &N 7

(1) TRl & Q@ oA H Hg A
Ie 7

(2) TY ot omeeam W URi ?F FOR
QRS AT T

(3) 39 fow ol # & @A H BN
(4) wetedl Sa § SepE T #X Al
s 3 ARG T ¥ F R &

g & fore HF-T FOF T 78 8 ¢
1) s drem & dr R
(2) gfs TR & H W A ¢

@) o e w3 A A R

(4) g@ﬂzﬂﬁqﬁﬁaﬁr% GIEERCN
A & A 2

Haifies yeE w8

| (1) arides Then yor

(2) Y& TUE omedt
(3) AT T

(4) TS 99HR TSl
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A.

21. A girl of your class is interested in

22.

23,

(3)

(4)

sports and wants to pursue her career

in sports. What will you suggest
her ? '

(1) Girls have no future in sports

(2) She should put in hard work to

achieve her ambition

(3) Ask her to bel focu‘sed only in

academics

(4)

Girls can not excel in sports as
they are not physically strong

Which is not true about intelljgenme ?
(1) Intelligence is the'abiiity to learn
(2)

Intelligence is the ability to solve

problems

Intelligence is the ability to work
hard ' r v

Intelligence 1s the ability to adapt

~ to novel situation -

The most effective,‘ieyéluaf‘:ion method
i S * m . -

(1) Annual examinétié_h method
(2) Examination W‘iti’l Bdok ﬁéthod
(3) Semestral metiléd. o

(4) Objective questmn paper method
o eTos
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Frfeifaa s gofer i
A, WES UNERIG) 9 e
B. &4 (ii) = AT
C. =i (iii) g9F-%e AT
D. SN R (iv) H&ToT ares
A B C D
(1 Gv)  Gi) @ (it)
(2 Gv) G G @)
(3) Gi)  Gv) (D @
(4) @) ()  Gii)  Gv)

Y& ‘A iR B A 2

(1) SF-91eT w99 g oF
EIR I G|

FHTH b T YYE & A S
EISIR &I

frmdt @1 dofke & b g
B AT B g -

qEgAl B HH T AR F U s o
farepitrey eidlt & o9 3

(2)

(3)

(4)

(15 =i ovaRe § &)
(2) T frar eremer # &
(3) ol fEpar srwem F @)
(4) =i Brr o 7 &

Cat.-3/48
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25.

26.

24. Match the following :

A. Slide Projector (i) Visual mean
B. TV
C. Chart

(i1)Audio mean
(111) Audio-visual mean

D. Voice Recorder (iv)Projective mean

A B C D
(1) Gv) (1i1) (1) (i1)
(2) (Gv) (1i) (i) )
(3) (i) (iv) (ii} (1)
4y () (i1) (iii) (iv)

The term 'comprehensive evaluation'
means

Evaluation conducted at several

(1)

points of time

(2)

Evaluation by a group of teachers

(3

Several test for long duration

Evaluation of curricular & co-

(4)

curricular aspects of pupil growth

The
serially is developed in the child when

capacity to arrange objects

he isin

(1) Sensory motor stage

(2) Pre-operational stage

(3) Concrete operational stage

(4) Formal operational stage
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(11) A
27, PR RO B AEE H TH B 97. For enhancing the ability of transfer
T ST B 7T Bl @Ry of learning the teacher should not
(1) - @ Sieansd B (1) encourage self activity
C(2) T B gy B Sied B (2) encourage the habit of rote learning
(3) §¥H & g & ﬁzﬁl'{:[ Tl (3) develop the habit of learning by
insight .
(4) WHFNH W S & (4) emphasise on generalization
98, Vg FF oA FRHl AT BT WA ISR 28. When a child mispronounces a word,
w%a’rmwaﬁiﬁ? what will you do ?
(1) F& 5 W@ 7 i (1) Tell-don’t say like this
(2) g8 =R AR (2) Tell the correct pronunciation
(3) T IR B [ 39 BT (38) Rebuke the child for wrong
pronunciation
(4) & T8 3| (4) Ignore
29. UWE Td THA g B STER kS 29. The basis of effective and successful
leadership is '
(1) usrEr v (1) Appreciation
(2) H’FCLE% e f&a ‘ (2) The interest of entire group
(3) @ B |l (3) Service of group
4) FFI F & (4) Self interest
30. ®El I oS ARG B 9 mied 80. How the virtue of good citizen can be
fepdr o @ € © inculcate among students ?
(1) I= o AMREA T Ao LCTy | (1) By lectu.rihg them on good
citizenship
(2) I UEH TEH 9 Rk FEH (2) By familarising them with
national heroes
(3) S HIE WS . F (3) By assigning them  some
_ Efed Fh community service work
(4) I= A GuE 9 aRiEE Ut (4) By familarising them with Indian
Constitution

Cat.—3/48 | P.T.O.
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31

32.

33.

34,

35.

LB AR T 3 e o g

g

(1) wHewepsh, el Braerm
(2) Fom, Braerm, sy
(3) werierl, ey, aefor
(4) g, @, axfoh

T g wE o g

S —
(1) SwE - ged

(2) Hgd - S

(3) UF e STISH - e
(4) TF A - WivEg g9
e B e ®

(1) =1 & 9o (2) =

(3) Wy WEslh  (4) IFEX
T v # Rl o= g
(1 T (2) T
(3) A (4) T
HIA-7 oF fadeer 7@ R 7
(1) 999 (2) ST

(3) SoHY (4) SlF

RS sraiforga wrs & gswT B9 79 ge
(797 Ho 86-39) & Fuv §IG IFT AHY
T T g9 T B SN, aral-siet
N JENT T F 9T SlEe 1 ST, o
qgh T 9 ¥ Praifad & 9w g a9 B

Cat.-3/48

9B a4 37 719 W gy B oiw o @ o
B s R R 7 o oam R geedew 3
BT B T T g Fe A R § &
UGN W IR R B e gE G qg) ?

A A T, @ w A o e
€ o 8T ARy F REw @ ¥ - AR w8
A e (R T W g A @ dm)
e, tead @ el How g § gw v
¥, SUH WEHT, Iudl e o wr Y, W wm
% 9T AN ? Ay FF 39 we Pefy ¥ o
°H SfET E Sedl €, Gead ofX Mo amt
-9 god €1 | Qe da o @ R
SHB FEET wed & a@r ¥ BE oAt 3 o
@l g 3wl A B o g ¥ o v
g8 W oAed ¥, W ¥ oy dmsiene @
18 & ol g gifam st st 7 s
5 A T @ W S W v o ® el
IR T RERt g g @ s
FHeall A7 TRE R §

36. ‘giHar = faciw B
(1) Ffe (2) &

37.

(8) STMeAB IR (4) dET a9
a7 Fi fafy @

(1) g@i # fees e

(2) 39 9 g& HF # rafertar
(3) FREY ofF =
(4) wgFH 1 FHR &
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88. I AT B AR A qE B A
(1) 95 STAEE! &
(2) wgd FruemEel B
(3) sEd Jdar &
(4) ET Ieqrted B

89. ‘Ga Y WANT F E §
(1) @ T & qE
(2) O I & e
(3) o= Usad g
(4) S | ¥ FE T

Frer ¢ s TET B T RE T AR
(757 Ho 40-44) % T @I AT FET

ﬁr&qm%aﬂﬂm%wamm%
eI 9% A FREd ®9 § 9% a9 @ 8|
™o e & el geer @@ R
=6 YR RAY FaerEl STy H i S bl
FORTET B AT BT el § | RS F g
e Afed § g B A e | R @
Tl B I ST Rl B | T
IH T B FAA S| AT AT B IED WA
T Hod A & 6 R g # e oM W
F o T8 B | 99 g% 9 G T Al
4RpaTY 9= a/EY T8l &Y 34 79 a% 9 8¢
@ ¥ g P OrTN . & W S Al
gRYel qu-u @ wERA Al e 7, Rl @
[ B g0 e E@eEel Wl ) GH T
'_%@cﬁﬁ%ﬂaﬁaﬁmﬁwaﬁﬁ%,vﬁﬁﬁsﬁ
TR ST & B 8l Ged X 9 d%
e B AN I gFBT ARG [T AL &
% o & S |
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A
¥ dreen € B W @ ge st Rar @l
T T T qEdE & o ? S SR geg, 3
A & o @ eifeRfe ot i WP
w ¥ qudaE 3 oTheE $ WY 6 G
W gET FR ff — R e A e S
X A, SN & A g
40. S wU W O H gedeE q e

T far & 7

(1) Sia &I e ¥

(2) SiEd & e W

(3) Slgw =l U T

(4) IH TH |
41. G e ¥ 68 Hwa A= T g 2
(1) Y & wa @t
@) Rl & gl @@
(3) Ry & o= &
(4) 3w # et &
42. fEid w1 e @
(1) e (©) e
(3) frmy (4) W%
43. TEF B ITIAR Feel b WA JENA B
1) Ry & wa
(2) RW & %
(3) awwi @ H
(4) W8 @ wY
44. RO g9 & I B @
(1) o (@) o i
(3) ¥El # (4) aad #

P.T.O.
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46.

479,

48.

49.

50.

51.

52.
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B el & oA e a1 wd
-

SN, SR, S, Sed’
(1) @, S, 9, Sed
(2) Meq, FHERH, D,
(8) =g, gy, Sedl, s
(4) Sed, e, wO@l, SEee

EAR TR H #E A dgeeed ¥ gaRm
fpbe H 29 wig siad g1 tEifed o= 8

g

(1) dleErEs:  (2) qEdrEs

(3) sfcEra®  (4) GRYE T
T + I B Y aE '

(1) e (2) e

(3) o= (4) i
BRI E R e

(1) T + 9 (2) q + T + &
() o+ 9 (4) ST+ 7 + o
‘e U ©

(1) 9 (2) T

(3) 7 (4) mg

M1 @ g @ ogfe @ g o g
(1) uH (2) "UE

(3) FMEIFHI  (4) qgIT
T o & ol W o we ¥
(1) femvy, Fe, o1

(2) o, f¥E, &

(3) &19d, &, foy
(4) foory, fom, e

TEERT F T B

(1) TwIHY (2) =&
(3) wgdlle (4) srrfivE

(14)

 53.

54.

55.

56.

57.

58.

59.

60.
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ﬁﬁ@sm%%ﬂs%ﬁtrﬂwﬁiﬁ
R
(1) 9meer (2) atran

(3) wfer (4) guan

@ Fe ALY TeER H e B

(1) R gfdar g

(2) qTER giredqst g

(8) UXEY IT Bl

(4) I0UT g7 B
P-T1 A [y ar 7gFE 7

(1) ST 938 Fear & fF e

(2) T ST W1 S 9 R o |
(3) GH sHlcd o= & FifF q7 Ve & |
(4) SXAT G & HROT A & |
TR B R g i @ or B
(1) War = FHr

(2) a9 2w

(3) THAT UFH G @
(4) M @

P o @ g gt ®
(1) & 2) 3
(3) =® (4) T

(1) T + 3cdEFT (2) O+ Iodmd
(8) 9 + I@ET (4) W + dEe

EEC N e BRI (e

(1) 3R (2) ITHE
(3) T (4) X
P gl § | agva g B
(1) dr9rer (2) Ty
(3) W&l (4) g

Cat.-3/48
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[ - 11 / PART — III
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61.

62.

63.

64.

'He hardly works.'

The underlined word means
(1) arduously (2) mostly
(3) scarcely (4) strenuously

Choose the correct: word for the
following phrase :

'Fear of foreigners'

(1) Hydrophobia'
(2) Xenophobia
(3) Homophobia

{4) Claustrophobia

Give one word for ‘That which can be

eaten.’
(1) edible  (2) chewable
(3) palatable (4) digestive

She had a headache; otherwise she

............... with me.
(1) would come
(2) would have come
came

(3)

will come

(4)

Cat.-3/48

66.

67.

68.

69.

65. Which sentence is incorrect ?

(1) Ileft without any one knowing.

(2y 1 hope you will excuse my leaving

early.

(3) As he was going up the hill, he

saw an old temple.

(4) 1 dislike your behaving in this
way.

Complete the given sentence :

"The human body is like an engine. It

requizfes fuel to ......
(1) work (2) keep it going

(3) runfrom  (4) keep it on action

He e not oppose me.
(1) dare (2) dares

(8) did dare (4) was dare

Chooée the correct Article for the

- blank :

'Gii(e me ...... .. yellow teapot which is
on the table.'

(1) a (2) an

(8) the (4) Zero article
They told me that he ........ in Jaipur.
(1)' were (2) was

(3) will be (4) can be

P.T.O.
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A

70. His score is higher than .........
(1) you (2) yours
(3) your (4) yourself

71. Choose the correct Pronoun for the
blank :
'He is the only person ........ can help
you.'
(1) who (2) that
(3) he (4) which

72. Choose the correct Preposition for
the blank :
'One must abide ........ one’s promise'.
(1) in (2) by
(3) for (4) to

73. Ihavebeenhere ............... Monday
(1) from (2) since
(3) for (4) till

74. Change the Voice of the following
sentence :
‘We were let go.'
(1) They let us go.
(2) We were let to go.
(3) They were let us to go.
(4) Let us go.

75. Which word is wrongly spelt ?

(1) believe (2) relieve

(3) brief
Cat.-3/48

(4) decieve

(16)

Directions : Read the passage given below
and answer the gquestions that follow
(Q. Nos. 76 to 85) by selecting the most
appropriate option :

Conversation is indeed the most easily
teachable of all arts. All you need to do in
order to become a good conversationalist is
to find a subject that interests you and your
listeners. There are, for example, number
hobbies to But the

important thing is that you must talk about

less tack about.

the other fellow’s hobby rather than your
the
popularity, Talk to your friends about the

own. Therein lies secret of your
things that interest them and you will make

your reputation for good fellowship,
charming wit and a brilliant mind. There is
nothing that pleases people more than your

interest in their interest.

It is as important to know what
subject to avoid, as what subjects to select
for good conversation. If you don’t want to
be set down as a wet blanket or a bore, be
careful to avoid certain unpleasant topics.
Avoid talking about yourself, unless you are
asked to do so. People are interested in their
problems, not in yours. Sickness and death
bore everybody. The only one who willingly
listens to such talk is a doctor, but he gets
paid for it. To be a good conversationalist
you must know not only what to say but how
Don’t
overemphasize your own happiness. Be

to say it. Be civil and modest.

mentally quick and witty, but don’t hurt
others with your wit.
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Finally, try to av01d ma,mxen m

conversation. Don’t’ b;te- >yuurhhps, or chck“

your tongue, or roil. your eyes, or use your
hands excessively as you speak i

76. 'The secret of your popularity lies.in
(1) cultlvatmg good hobbws

(2) being able to converse about what
is of interest to the listener

(3) having a knowledge about a large
variety of hobb1es s E

(4) talking about yom hobby

77. The secret of becommg & good‘-

conversatlonallst s

(1) talking abqut'problém\ .

(2) avoiding .. manmmsm'

} conversatlon

(8) us1ngyourw1t

(4) knowing What to ‘ho‘wtﬂ ‘

say it

78. A doctor is the only one who readlly
listens to conversatwn abaut sickness

because

(1) it is his job and he earns"ﬁ'om that

(2) he is not mterested in anythmg’s

else

(3) sickness a.nd

everybody;
(4) he is a kind person

Cat.-3/48

(17)

79.

80.

82,

81.

- Powered by IBT

A

Courtesy and  politeness are
recommended through which word in
the passage

(1) willingly

(2) civil

(3) overemphasize

(4) None of the above-

To become a good conversationalist,
you need to

(1) find a good teacher

(2) find an interesting subject

(3) practice the art of ‘conversation

(4) converse about what you and the
listener find interesting

You should avoid talking about
yourself because

(1) you are avboreb

(2) it will make you appear
unpleasant ‘

(3) you don’t know how to choose the
subject of a good conversatlon

(4) people are not interested in you
or your problems

‘Mannerism’ in the passage means

(1) ‘not hurtmg others w1th you:r wit

2) havmg good manners

(3) gesture or way of speaking typical
to a person

. (4) using polite language

P.T. O.
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830

84.

85.

86.
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Which word in the passage is the
opposite of ‘arrogant’ ?

(1) witty
(2) mentally quick
(3) conversationalist

(4) modest

What pleases people most is

(1) your reputation for  good

fellowship
(2) your clever use of language

(3) your taking interest in what is of
interest to them

(4) your brilliant mind
Which word in the passage means to

strongly stress that something is
particularly important ?

(1) overemphasize
(2) mentally
(3) excessively

(4) mannerism

am ........... after ten years in the
business.

(1) wise

(2) wisest

(3) more wise

(4) wiser

——Powered by 181

87.

88.

89.

90,

Choose the correct Adverb for the
blank :

'"The sun ........ rises in the east'.

(1) sometimes

(2) often

(3) always

(4) rarely

The damb ............ not speak.
(1) has (2) does
(3) 1s (4) do

Choose the correct Phrase for the
blank :

‘The craft in which I sailed rapidly

.......... the open sea.’'
(1) made out
(2) made up
(3) made for
(4) made off'

He is poor, ......... he is satisfied with

his situation.
(1) yet (2) but

(8) so (4) while

Cat.-3/48
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(19) A
AN - IV/PART - IV
TR/ MATHEMATICS
91. @ﬁ%ﬁ?‘%ﬁa‘ﬂ?ﬁxﬁoﬁﬁﬁOﬁ 91. Two poles x m and 2x m high stand
gy R Bl Ak ER I IR & 99 ?g( upright in a play ground. If their feet
{& 6 WX & T T A ® §F are 36 m apart and the distance
{& 39 fieX &1, AxH| A 2 between their tops is 39 m, then value
v of x is
(1) 104X (2) 151X (1) 10m (2) 15m
(3) 208X (4) 259K (3) 20m (4) 25m
2. Prgsit ABC 9 DEF ¥, AC = DF, 92. In triangles ABC and DEF, AC = DF,
BC = EF X ZABC = £DEF = 90°, @ BC = EF and <ABC = /DEF = 90°,
ﬁ Prgst et e then both triangle is congruent by
(1) RASF&m 8 (1) RAS rule
(2) SASfrm | (2) SAS rule
(3) ASA W ¥ (3) ASA rule
(4) SSSFEw | (4) SSSrule
93, = § § -9 oAy g B 7 93, Which of the following is irrational
. number ?
@ (B+sf ¢V (&/§+3)2
(2) (5—«/5)(54-«/5) (2) (5—‘J§)(5+«/§)
V2 .6 V2.6
(3) 3) =
23 23
(4) T ¥ B T (4) None of these

1% F14 ® [T o9 / SPACE FOR ROUGH WORK

Cat.-3/48
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4.

95,

96.

99.
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(1) 2ab 2) ab
va +b va? +b2
2.2
(3) 2a°b @) 2ab
va +b a? +b?

BT z = 6x + 8y BN AHAT TH, TElp
Y 2% + y < 80, x + 2y < 24 AT
xzo,yzo,‘e’f,%

(1) 120 (2) 240
(3) 60 (4) 132

1565 x155 155 — 55 x 55 x 55

H AR
155 x 155 +155 x 55 -+ 55 x 55

(1) 55
(3) 100

A deell ® Ho Ho ITH Yo Ho
T B, @ O el & A g e

(2) 155
(4) 210

F I B
. NE) 76 R
+—3 I 3 =
(1) 4 5 (2) 3
Jo 2
3) = 4) +—=
(3) 2 7

(20)

94.

95.

96.

97.

—Powered by 1BT

The length of the common chord of
the (x—q)? +y2 =q?
%2 +(y—06)2% =82 is

circles and

(1) 2ab (2) __ab
va+b Va? + b2
21.2
3) Q_C:ti_ @ 2ab
va +b a® 152

The maximum value of the function
z = 6x + 8y, subject to the constraints
2x+y£30,x+2ys24andx20,
y 20,is

(1) 120

(3) 60

The value of
155 x155 x155 —55 x55 x 55 i
155 x155 +155 x55 + 55 x55
(1) 55 (2) 155

(3) 100 (4) 210

(2) 240
(4) 132

If AM of two numbers is twice of their
GM, then the ratio of the sum and
difference of these numbers is

1 + @ +2

w&w'&l

2
3) =— (4) +—
7

% F F f@T S8 / SPACE FOR ROUGH WORK

Cat.-3/48
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99.

100.

101.
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GE] y2=4x ETE]Ty=2x?I\3T{?ITEH
ELTIE

1 1
(1) 3 (2) 1
. 1 .2
(3) 2 (4) 3
Yo n WE HEAet & TERT 8

n?+1
(1) 5

n2~1
2) 12
(3) (n+1)2n +1)

6

n(n +1)
(4) 2
aEt @ GEA 5 a9 § 15 e TRe
HOT IANT B °

1’ 1
(1) 725 (2) 675
3) 58—; (4) 64°
e f(x)zas'inx +bcosx e
csinx +d cosx

FEAE &, afR

(1) ad=bc>0 (2) ad-bc<0
{3) ab—cd<0 (4) ab—-cd>0

(21)

98.

99.

100.

101.

- Powered by IBT

. A

The area between the curves y2 =4x
and y = 2x 1s

1 1
1) — 2) —
(1) 3 (2) 2

1 2
3) = 4) =
(3) 9 (4) 3

The variance of first n natural
numbers is

n?+1

(1)

n2 -1
12
(n+1)(2n+1)

6
nn+1)
2

(2)
(3)

(4)

At what angle the hands of a clock are
inclined at 15 minutes past 5 ?

L] o

1 1

1) 72= 2) 67=
(1) 5 (2) 5
1 ]
(3) 585 (4) 64°
Function  f(x) = asinx +bcos xv is

csinx +d cosx
monotonically decreasing, if

(1) ad-bc>0 (2) ad-bc<0
(38) ab-cd<0 (4) ab—cd>0

% & B [T SHTE / SPACE FOR ROUGH WORK

Cat.-3/48
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103.

104.
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it zfgsz%ﬁlﬁxwmﬁeﬁw
T

(1) (—w0,m) (2) 2,7)

3) (T,») (4) 17,,)

R o d, AB & 99 &

A
30° 60
D&—40m—>C B
(1) 10 Hio (2) 20 Ho
(3) 104310 (4) 20430

25 91 x 21 W SIBER H HIABR
FEefle § ST @R # T g
HICHT AT FT (o, o A9 = | H
A B

(1) 150 ¥@2  (2) 168.5 a2

(3) 178.5 WM? (4) 180 ¥+2

(22)

102,

103.

104.

—Powered by 18T

. . X+3
For the inequation P L2
X -

value of x lies in the intervii

the
(1) (—o,) 2y 2,7

3) (7,%) (4) [7.x:

In the given figure, the value of AB is
A

0¢
30° 6
D<—40m—> C B

(1) 10m
(3) 1043 m

(2) 20 m
(4) 2043 m

A circle of maximum size is cul off
from a rectangular card sheet of size
25 cm x 21 cm, then the area of
remaining portion is

.

(1) 150 em? (2) 168.5 e¢m?

(3) 1785 em? (4) 180 em?

% & % AT SPIE / SPACE FOR ROUGH WORK

Cat.-3/48
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(23) , A
105. 3 T B ¥ BT @+ ) B A B 105. The value of angle (x + y) in the given
figure is
"_I X IJ X,
289 289
(o] 650
\65 N -
R s T R s T
(1) 42° (2) 72° (1) 42° (2) 72°
- (8) 90° (4) 120° (8) 90° (4) 120°
106. ofY A =[ 21 “21] 3l 106. IfA .—_[ 2 "21] and A%2-4A-nl=0,
A2 _4A_nl=0, A n & I9 & then the value of n is
(1) 3 2) -3 (1 3 (2) -3
1 1 1 1
fad 4) —= =3 il
(3)A3 (4) 3 (3) 3 4@ 3
107. W flx) = log[Sx _xz]aﬁ[ e 107. The domain = of the:..  function
' 4 . (5x —xz) . |
f(x)=_{log is
| 4
D) 6,8 @ 6,10 1) (6,8 @) (5,10)
® L0 @08 @ 1,0 @ (©,5)

% H& $ [AT FTE / SPACE FOR ROUGH WORK

Cat.-3/48 : P.T.O.
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109.

110,

111,
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UF Al AW B T 30 f6di/eaver =
d qgE ¥ A 40 Rl @ oEw @
dle adr 21 AR gof gen § o9f 14 gqoR
o, NAGBH T R

(D 2409 (2) 300 &
(3) 250 bl (4) 275 fpedt
~ 7 + 240 H Eﬁ‘r{a g

(1) £(-3+4i) (2) =(4+30)
(3)

+(3 + 4i) (4) + (-4 + 3i)

& : 50, 42, 35, 2x + 10, 2% — 8, 12,
11, 8, 6 & oEXE H9 ¥ wHET T,
forae Mitasr 25 B, O x @ 99 B

(1) 15
(3) 13

(2) 14

(4) ¥ § ¥ T
Iolt 1445 @ 1-+5 % w0 e
AR 7 v

(1) x2-2x-4=0

(2 x2+2x-4=0

(3) x2-2x+4=0

(4) x%+2x+4=0

(24)

108.

109.

110.

111.

= Powered oy 1BT

A man is reached from A to B with a
speed of 30 km/hour and return back
with a speed of 40 km/hour. If he
takes total 14 hours for entire journey
then distance between A to B is

(1) 240 Km (2) 300 Km
(3) 250 Km (4) 275 Km
The square root of — 7 + 24i is
(1) =£(-3+4d) (2) +(4+30)

(3) £(3+4i) (4) +(-4+3D)

The median of the observations : B0,
42, 35, 2x + 10, 2x — 8, 12, 11, 8, 6
arranged in descending order is 25,
then value of x is

(1) 15 (2) 14 ,

(3) 18 (4) - None of these
Quadratic equafion corresponding to
the roots 1++/5 and 1-+/5 is.

(1) x2-2x-4=0

(2) x?+2x-4=0

(3) x2-2x+4=0

(4) x%+2x+4=0

I H1Y & [T S8 / SPACE FOR ROUGH WORK
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o 1i4.‘

115,
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oR @ @, o AW Py
.‘ - \ 1‘- . E

(1 5 (2) 3

ey T 2

3) Z (4) —3—

A ABCH, /C = 3/B =2 (LA - AB)

A BT T |

(1) £A (2) £B

(8) «C 4) £A IR LB
AR 23k B TIEEE &+ 2)
R A RWANE

1 -8 @) 8

(3 -2 4) 2

aft »p, ="P,,; ¥R "C, C,, @
(1) n-—3 r=2 (2) n=4,r=2

',_(3)*‘ 4,r=3 (4 n=5,r=2

- 118.

o & e s Sl @ g

g @R @ oW B R R W

ST 512° ®, @ Rl TR ©
}' ;.»(1) 160 (2) 3290
(3) 120 (4) 8o

(25)

112.

118.

114.

115.

116.

- Powered by IBT -

If the dlﬁ'erence of twa umt -‘ctors is
also a unit vector,. then fhe 3 ngle
between them is s

@ @ g

(3)

&la |

InaAA.BC LC = 343 2(AA AB)
The smallest angle is .

(1) £A (2) /_'B .

(3) ZC (4) bothm and éB

then value of k 18

(n -8 (2) s sede
If P, ="P,,; and nC.;“--- -‘»1. ;

1) n=38,r=2" o)) n~
3) n=4,r=3 (4) n= 5 r-—-2

The width is double of rt& hea.ght a:nd .

half of its Iength of a room af volume S

of the room is 512m then length of
the room is
(1) 16m
3) 12m

. ~(2).:-';f.3%?h

 @8m

& 14 P MY SFIE / SPACE FOR ROUGH WORK -
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i18.

119.

120.
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tan{Zsin‘l(gJ}ﬂ GIE

7 24

1y z=
(1) 92 (2) -
7 . 24
3) —— el
(3) 21 (4) 7

J 1 1 sinxl
x>0% [T lim (sin x)* +[—j
x>0 "

0| )
H AT 2
(W o (2 -1
(3) 2 (4) ™ 9 35 T

AT flx)=(x +1)°% x =0 W daq 8,
@ AO)H A B

(1) 0 2) 1
(3) 1 (4) e
e

T (x + 2), dx> +3x2% —4x + 3k F UF
PEs 8, @ & H AN 2

(1 -4
3 3

(2) 4
(4) -3

(26)

117.

118.

- 119.

120.

- Powered by 181

The value of tan{Zsin‘l(gﬂ 18
) 9

7 24

(1), 24 @) 7
7 . 24

3) —-1 =2

(3) 54 (4) 7

For x > 0, the value of

lim J(sin x)% + (l} o ] :

x—~>0[ X . [ 1
(L 0 2) -1
3) 2 (4) None of these

If flx)=(x+1* is continuous at
x =0, then the value of f0) is

(1 0 @ 1
3 L @) e
e

if & + 2) is a factor of
4x° +8x2% —4x + 3k , then the value of
k is
(1) -4
3) 3

(2) 4
(4) -3

% H9 B U S8 / SPACE FOR ROUGH WORK

Cat.~3/48
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(27) A

121, O AT P TR 20% T & AN ATH 121. If the length of a rectangle is
5% gl &, A IO S fBam s increased by 20% and width is
g% ST ? increased by 5%, then what is the

percentage increase in its area ?
(1) 25% (2) 26% (1) 25% (2) 26%
(3) 15% (4) 16% 3) 15% (4) 16%

122. 3R W@Eﬂg ﬁ[‘ﬂﬁ B ST gt 8 iy 122, If unequal side of an Isosceles
T aur Iue IREM 18 g4 %, T SHH triangle is 8 em and its: perimeter is
SEETIES 18 cm, then its area is
(1) 15392 (2) 20 32 (1) 15 ecm?®  (2) 20 em?

@) 12%? (@ 1802 3) 12 em?  (4) 18 cm?

123, Y IE WA wedel & HAENR A 123. The arithmetic mean of first ten odd
g natural numbers is
(1) 8 (2) 9 (1) 8 2 9
3) 10 4) -10 (3) 10 (4) -10

124, A={1,2,3,..,n,n=22 gB=(12H 124. The number of all onto functions
qRfT Tl oTesEd Tl B e o defined from A = {1, 2, 3,.....,n}, n 2 2
, to B = (1,2 is | -

(1) "py (2) 2" -2 (1 "py (2) 2" -2
(3) 2" -1 (4) 2" +1 (3) 2" -1 (4) 2" +1
125. Y@ X ~1 _y +2 _z -1 qer A 125. Distance between the line
.8 -9 2 x-1 y+2 =z-1
= = and the plane
2 + 2y —2=6% HA g & 3 -2 2
2x+2y —z=61is
1) 9 2) 2 (1) 9 2) 2
(3) 3 4) 1 3 3 4) 1
% &4 % [T S8 / SPACE FOR ROUGH WORK
Cat.-3/48 P.T.O.



- 126.

127,
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129,
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zf 37 % A R
W JE+3 (@ V-7
"(3)4-3 (4) 4+7
,-zrfﬁx ~2¢+4=0 % U o, B T @
oatep? wAE R
W @ s |
(3) 64 (4) -32
g | ST é‘( @ x B AN R
5t 3251 T12
w2k @ @
M| PA=Z,  PBI=g R
P(Ar\B)——-— A PANE) & 7=
4 6
ER A E

(28)

126.

127.

128.

129,

—Poweéred by 18T

The value of 2\/§g+3ﬁ is

(1) V4 +3 (2) J4+7

(3) 4+3 ) 47 |
If o, B are roots of x2—2x+4=-0,v‘ |
then the value of o3 +p3 is

1) -16 (2) 8

(3) 64 (4) -32

A

if I , then the value of

U5 V21 12

xis

(1) 22 ) g

(3) 2 4) =

¥t pa)-X pwy=L ana

4 13 '
P(AmB)za , then the value of
P(Z('\E) is
4 6

1) = 2) —

(1) 3 (2) 13
, 9 7

3) = 4) —

(3) 13 (4) 13

% FM P [T SF1E/ SPACE FOR ROUGH WORK
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tan®
sec -1

tan®
sec 6 + 1

fre WER 8 ?
(D) éosece

@) sin®

(3) 2 cosé,c 0

(4) 2sin8®

IR fx) = | x - 2] 9 o) = FIf @),

(29)

130.

- Powered by IBT

tan©
sec0-1"

tan9
sec 9 +1

is equal to

(i) cbvsec 0
(2) sin©
(3) 2cosecd

(4) 2s8in6

131. 131, If Ax) = | x — 2| and gx) = fIf ()],
T x> 20% [T g'(x) @ 9 ¥ then for x > 20 the value of g'(x) is
w1 @-1 (1 1 @ -1
(3) 0 ) e (3). 0 (S

132. :*IQTGiT ¥ =k w r —(1 t)L +z;; ® 132, The shortest d1stance between lines
wE QYA gl © r=ik and r=(1-t)i +ijis

. 1 1
w2 @ = 1y 2) —=
| 5 _ V2 @ -
3) 2 4) 1 3) 2 (4) 1
133. e & 133‘ a1 ﬁrfﬁf ﬁ ST T 133. The angle framed by mmute hand in
T B » v a minute is :
(1) 2° (2) 6° Q) 2 (2) 6°
(3) 15° (4) 20° (3) 15° (4) 20°
% & % g e/ ,sgAcE FOR ROUGH WORK .
P.T.O.
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134. U% Uy F A, S 2 6 26 SHEeT

135.

136.
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B dY B H 113 TR A g
¢

4 4
(1) 4151#10 (2) GH’ﬂO

(3) 122 %o (4) 12-8 o
11 11

&7 @ form & 3@ 1 A e R E,
W Lx HAF &

! P
< hd Z 7 >
135°
Q< x
n 4Q° N
R
(1) 90° (2) 8h°
(3) 55° (4) 45°
B sin’lx+sin"1y+sin_lz=_32_Tt i
-1 < X, ¥, % < 1, Eﬁ
100 , 100 ., _100 9
X +y + 2z 4
2101 107 101
H AT 2
(1) 9 2) 3
3) 0 4) -3

134.

135.

136.

The diameter of a wheel, which
makes 113 revolutions to travel 2 km
26 decameter, is

4 4
1) 4— 2 —_
(1) 5 m (2) 611 m
. 4 8
3) 12— 4) 12—
@ 127 m @ 1209 m

In the given figure lines [ and m are
parallel. The value of /x is

00

(1) 90° (2) 85°
(3) 5b° (4) 45°
. 1 . 1 - 3

If sin’ " x +sin y+sin z:-2—,
-1 € x, v, z £.1, then the value of
100 100 100 9
Xy Y 2t

101, 101101
is
1 9 (2) 3
(3) 0 4) -3

% B B [T S8 / SPACE FOR ROUGH WORK
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(31) A
137. @ ST YUl @ AR 100 2| T 137. The sum of two positive integers is
T 1000 ¥ AH B bl ST 100. The probability that their
2 product is greater than 1000, is
T 7 7 7
(1) — 2) — 1) — 2) —
SO @ 75 W 3 @
2 3 2 3
3) 2 4) = 3) = 4 =
(3) 5 (4) 3 (3) = (4) 3
TR x4 = o 2 ' - 41
138. v RIS 138. Solution ofthe equation x +— =30
5 4 ‘
(1)x=iz (2)x=ig (1)x=i% (2)x=i§
5 4 5 4 5 4 5 4
3) x=—>, > (4) x=-—, — = ol -2 2
8) «x YR (4) « 15 3) « s (4) « 1
139. Y&% n ¢ N @ U n(n + 3) & 99 139. For every n € N, the value of n(n + 3)
BHT B B is always
(1) 9 (2) faud (1) even (2) odd
(8) 4 % T (4) 5 F I (3) multiple of 4 (4) multiple of 5
140. I ©hH=l gl bl qRfEET s 88 asHl 140. The circumferences of two concentric
wd 132 99 &, 3 99 $ IAETH 1 8 circle are 88 cm and 132 cm respectively,
B FABA § then area of ring shape region in
between them is
(1) 750 Q2 (2) 760 wAZ (1) 750 em®  (2) 760 cm?
(3) 770 W2 (4) 780 UH? (8) 770 ecm?  (4) 780 em?
% %1 P [T ST / SPACE FOR ROUGH WORK
Cat.-3/48 P.T.O.
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¢ %, n ﬁ&Wﬁxl,xz, ....... ,anﬁT‘:{T?lT%r

n
T (x; &)=

i=1
(1) n (2) nn-1Y2
(3) 1 (4) 0

TH & F yzzzk(x—p\/l?),(/w()) q

Metd ogsa THET @ St e
g

(1) 1,2 (2) 2,4

3) 1,4 (4) 1,3

n A I HE F 9 YO SE
g

(1) 3 (2) 27°

1

3 1x0 (4)

~

I U g H URW 4n ¥ 8xF G A1,
dl 5% 8%a ¥ fha gRads 8nm

(2) dF Jom
(4) e I

(1) & 7o
(3) =T T

141.

142,

143.

144.
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If ¥ is the mean of n observations

I
X13%Q e , X, , then Z(xi—n?):
i=1

(1) n (2) n(n—-1y2

3) 1 (4) 0

The order and degree of the
differential equation representing
family of curves y? =2/e(x +Jk ),
(k>0) are

(1) 1,2 @) 2,4

(3) 1,4 (4) 1,3

Curved surface area of a hemisphere
of diameter n is

(1 = 2y 273

oy 1 3 1 3
3) = 4) —x
(3) 27t (4) "

If the circumference of a circle is
changed from 4x to 8m, then the
change occurs in its area is

(1) Two times
(3) Four times (4) Half times

(2) Three times

I% HE B AT SE / SPACE FOR ROUGH WORK
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Y ™ B ¥ gy, ZACD = 120° 3R

AB =AC, @ #9-91 g7 ?

(1) ZACB =60° R

(2) ZA=/B

(3) AB=BC=CA 120°

4) shgg B C D

NG -

[\/er—-—] % R # x W 9' @7
3 2x2

a9 B
5 5

1) = 9 2

® = @

15 5.

(3) ) (4).5

g A =(1,4},B=1{2,4,5)},q (ANB)x

AUB)H TH 8

@) (4, 2), 4 4),4,5)

@ {4, 1), 4,2), (4 4), 4,5)
3) (4, 1), (4,2), (4,5)

@) (4, ), (4, 5))

(33)

145,
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A

In the given figure if ZACD = 120°
and AB = AC, then which is true ?

(1) ZACB = 60° N
(2) zA=2B

(3) AB=BC=CA 120°

(4) All are true B C

3 2
term independent of x has the value

10
In the expansion of {\/E +—3—2J , the

5 5

1) — 2) —
(1) 16 (2) 1
15 5

(3) ) (4) 2

If A=1{1,4}, B={(2, 4,5} then value of
(AnB)x(AuUB)is

1) {4, 2), 4, 4), 4, 5)

(@) (4, 1),(4,2), (4, 4), 4,5)

(3) {(4, 1), (4, 2),(4,5)}
(4) (4,49, (4,5)}

% FH4 P ¢ SE / SPACE FOR ROUGH WORK
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e & & e aHaad et §

g & A 1, @ g # Rrgey R

(1) @ (2) Y@g™

(3) @ (4) g

qﬁa,b,c@ﬁj"ﬁﬁ'{%"ﬁ%‘ueﬁ,qiff
loga p 1

@Tr?ﬁqﬁg,?ﬁ logb g 1| A
loge r 1

3

e

(1 o @ 1

(3) log abc (4) pgr

afiepeer 21 28V6 85 _ a+by5, d a AR

4--f5
b H AN 2
(1) a=4,b=1

. (2) a=-4,b=1

3 a=-4,b=-1
(4) a=4,b=-1

(34)
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If the sum of the distances of a point
from two perpendicular coplanar lines
is 1, then the locus of this point is

(1) line
(3) square

(2) pair of lines
(4) circle

If a, b, ¢ are pth, gth and rth terms of

a G. P.,, then the value of
loge p 1
logb ¢ 1| is
loge r 1
(1) o (2) 1
(3) log abe (4) pgr
. 21-8J5
In ‘the equation —— —*° =g +5./5 ,
q 4—_@
the value of ¢ and b are
(1) a=4,b=1
(2) a=-4,b=1
3) a=-4,b=-1
(4) a=4,b=-1
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